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1-here are 6 (Six) Questions. Answer all of them
Use the graph papcr wherever necessary. Marks in the margin indicate the full marks.

Explain the use of internal rate of return (IRR) in capital investment planning ,md individual
financial planning. Give examples. Defend ifIRR is a good option for long-term projects where
discount rates vary.

An existing manufacturing company is reviewing two projects. Its management must decide
whether to move forward with one, both, or none. Its annual cost of capital is 10%. The cash flow
structures for eactl_L[9j§ct_a_rF_ as fgl lows:

Project
0 3 4 5

I

la) 7
C03
PO 1

1 b)

C03
POllYear (all mc.ne\ in dollars'

A - lo,000 3 . 'too 1 3.80c' 1 3.200 1 3 . ooo 1 1.400
B i -4,000 E 800 t 1.'too 1 1.000 [ 800 1 600

The company must calculate the IRR for each project. The initial outlay (period = 0) will be

negatIve.
Draw the cash flow diagrams for both projects.

ii. Showing all calculations, justify the project the company should proceed with.
Manufacturing projects incur costs as well as generate revenues over the years (chips production),
and service projects incur costs but generate no or constant revenue over the years (residential
garbage collection). From the benefit-cost point of view, how are you going to select the best
manufacturing and one best service project from among a few alternatives in either case? Select the
best alternative based on data in table below:

1 c)
3+5

CC)3
POll

Iriitial investment BDT
1 .000,000

1.500,000
800,000

50.000

Benefits BDT
48,000

48,000
40,250
58.500

Costs BDT
40,000

60.000
35,000
45.000

2a)
2b)
2c)

Describe the purposes of depreciation and depletion calculations.
State at least five prominent causes of declining the \alue of an asset.

The first cost of an asset is $500.000. Estimated salvage value after 5 years is expected to be 5% of
the first cost. Use the necessary data from the table below

i.Compare depreciation for 5-year MACRS and DDB.

ii.Determine the total depreciation over the next 4 years and comment on the model that offers
larger total depreciation after 4 years.

5
5

15

All
C04
POll

iii.Find the book value for each model after 4 ,cars and at the end of rccove
Year

3-year

5-year

7-year

11.52

8.93

3a)
3b)

Describe at least five consequences of inflation in an economy.
A middle-income family experienced the following situations (Table) in its family expenses in recent
Years. The income of the family increased 7% each year. Determine the consumer price indices
(CPI) and explain the case or hardship of financial management in the family. Also determine the
inflation rates in the years 2022 and 2023. The base year is 202 1 . Find the average inflation rate.

5
POll

12
POll
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3c)

! ! ea rLS : 1 Ty: : rh : : : : : : oi: : iT In: II : : F : nbE =: nsl Tl:n;t :r: : : : I: IT ;I hhJ?T;!cucJ :L;7y:tn2aflo $
;j*;r u;'i: :i J;i’oth:FiT;oo kg of a chemical was s.Id ,t 2,000/kg. Ea'ned th' follow.ing amount of

a:i hai-ntcnant'e costs respectively. 1-he depreciation charge on its assets during the period was Cy5 5

million. Consider all money in dollars (S). Determine the followlng: . .

i. Gross income of the company. ii. Adjusted gross income:' iii- Taxable income:' iv' Ince)mc tax to
be paid.

4a)

4b) S„pp,.„ th, i„itt,1 ,„t ,rth, business is $5 mi
and income tax remain constant as pcr ptevlous

your answer

4c)

5a)
5b)

5c)
5d)

Write a short note on
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ha rest!IarminG the depletion amount for the first 2 years if 20 million and 25 million board feet

Tie:ino;cy£ars total removable board Feet are re_estimated to be 250 million from time

I) i ffe r e : Ii :ec = = :u::nt h:o : : in ? iT: iT C:1 LeI : : : :nci 0 : ST: :r: : a PrInTed f::::• the points of Riba I profit
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;;Tm the point of ,..apability building describe th, statement, “human is the master keY for
development-'

11.

6a)

6b)
6c)

Tax ratTaxable rangeTaxable income limits
0.155mo50,000
0.2525.00075.000
0.3475.000150.000
0.39–:00.000-350,000150,
0.349 665350

)reciation charge, taxab,so, the
ish a table like the onecalculations

'hcn MARR is 10%If th- uslnesslet and determine the present wo
ATCFIncome taxBTCF It ionEOY

e lrlcorrlc
below in 8C04

POll

capita1 gains and losses of a corporation

-End of the question pal)ef-
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